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Write two multiplications to match the

odd one out.
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She says,

5a. Josie is solving multiplications.

10 x 7 is the
sameas7x 10

Is she correct? Explain your answer.

5b. Yusef is solving multiplications.

Pe 2N

10 x 3 is the
sameas 6 x 10

Is he correct? Explain your answer.

Sara has 40 blueberries.

Explain how you know.

6a. Blueberries are sold in packs of 10.

How many packs did she buy?
P9 999999

If Sara eats 1 pack, how many blueberries

will she have left?

R

6b. Pencils are sold in packs of 10.

Harry has 20 pencils.

How many packs did he buy?

If Harry gives 1 pack to a friend, how
many pencils will he have left?

Explain how you know.
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